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AIER b AR X EGEH =

B3 —2 BEMICERATILBESNOEEICE I HEE1/1) _ _ REEE Ik 25F &
SENMONE | #EmES | 154E1015 | [EliES \ P | PRTEHh TR AT
) SERMO TinICHEET S ZERH A
ﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
5 X 4 B | Timh o DR jmxa;é R 4 TiRALDKE [ FE jmxajé R 4 B | LmhooE jmxa;é K 4 HiEhooks | & jmjtéjé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 653 82.33 | #hLs | 000 ~ 653 1.79 9.03 st 1.00 | 6.00 ~ 7.80 82.33 | #n4 | 5.00 ~ 780 1.79 9.03
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.94 74.43 | NS | 000 ~ 594 | 1.92 970 st 1.00 | 6.00 ~ 7.20 74.43 | TRRSY | 5,00 ~ 7.20)| 1.92 9.70
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 4.15 51.93 | =nWS | 000 ~ 4.15)| 2.24 11.34 st 1.00 | 6.00 ~ 6.40 51.93 | =hS | 5.00 ~ 6.40 )| 2.24 11.34
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 595 74.47 | LS | 000 ~ 595 2.04 10.31 st 1.00 | 5.00 ~ 8.00 74.47 | TR | 5,00 ~ 800 | 2.04 10.31
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 543 67.81 | FnLUSY | 000 ~ 543 | 208 10.54 st 1.00 | 6.00 ~ 740 67.81 | =hst | 6.00 ~ 7.40| 2.08 10.54
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.32 66.56 | FnLSY | 0.00 ~ 532 | 220 11.12 st 1.00 | 6.00 ~ 830 66.36 | TSt | 5.00 ~ 830 2.20 11.12
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
9 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ FhLst ~ Fhst ~ st ~
10 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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